6.I want a list of employees in the east and west regions and I need the full region name, not just the region ID.
proc sql;
create table region as 
select
a.employeeregionid,

a.employeelastname,

a.employeefirstname,
b.regionname
from itkm549.employee as a
inner join 
itkm549.regionoffice as b
on a.employeeregionid = b.regionid;
quit;
proc sql;
select
*
from region
where regionname = "West" OR regionname = "East";
quit;
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7.I need to know which of our sales reps don’t have any customers, all regions. (Hint: This is adifferent type of JOIN. Also, test for nulls and eliminate the managers.)

proc sql;
create table join as
select 
a.employeeid,
a.employeelastname,
a.employeefirstname,
b.customeremployeeownerid,
c.regionname
from itkm549.employee as a
left join itkm549. customer as b
on a.employeeid = b.customeremployeeownerid
inner join 
itkm549.regionoffice as c
on a.employeeregionid = c.regionid;
quit;
proc sql;
select
*
from join 
where join.customeremployeeownerid is null
;
quit;
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8. Now tell me which region managers are responsible for those sales reps who don’t havecustomers in all regions. Display the region ID, I can get the full name separately. (Hint: You’llneed to see the entire employee/customer list to provide this answer)

proc sql;
create table C as
select 
a.employeeid,
a.employeelastname,
a.employeefirstname,
a.employeerole,
b.customeremployeeownerid,
c.regionname,
c.regionid
from itkm549.employee as a
left join itkm549. customer as b
on a.employeeid = b.customeremployeeownerid
inner join 
itkm549.regionoffice as c
on a.employeeregionid = c.regionid;
quit;


proc sql;
select
*
from C
where C.employeerole = 'Manager' AND C.customeremployeeownerid is NULL 
;
quit;
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9.Give me the list of customers who have purchased products and the products they purchased.

proc sql;
create table customer_product as
select
a.customerfirstname,
a.customerlastname,
c.productname
from
itkm549.customer as a
inner join
itkm549.productjunction as b
on a.customerid = b. junctioncustomerid
inner join 
itkm549.products as c
on c.productid = b.junctionproductid;
quit;
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CustomerFirstName CustomerLastName ProductName

1 Jon Bongiovi Axe Body Wash

2 Salman Rushdie Listerine Mouthwash

3 Scottie Pippen Ball Park Franks

4 Scottie " Pippen Ball Park Franks

5 Phil Donohue Magnavox Television Set

6 Phil Donohue Manichewitz Wine

7 Edward Koch Axe Body Wash

8 John Dillinger Kindle Paperwhite E-Reader
9 Soledad O'Brien Kindle Paperwhite E-Reader
10 Salman Rushdie Kindle Paperwhite E-Reader
11 Soledad O'Brien Kindle Paperwhite E-Reader
12 Jaden Smith Jordan Brushed Steel Tree
13 Edward Koch Manichewitz Wine

14  Salman Rushdie Magnavox Television Set

15 Billy Gates Ball Park Franks

16 Salman Rushdie Listerine Mouthwash

17 Phil Donohue All-new Echo Dot with Alexa
18 Lou Reed Magnavox Television Set

19 Phil Donohue Magnavox Television Set
20 Jaden Smith Magnavox Television Set

21 Salman Rushdie Axe Body Wash

22 Phil Donohue 6 Pack Budwieser

23 Harvey Specter All-new Echo Dot with Alexa
24 Edward Koch Nautica Voyage Eau de Toilette Spray





10. Which customers spent more than $75.00? (Hint: Use aggregation and grouping functions). 
proc sql;

select

a.customerid,

a.customerlastname,

a.customerfirstname,

sum(c.productunitcost) as total

from itkm549.customer as a

inner join

itkm549.productjunction as b

on a.customerid = b.junctioncustomerid

inner join 

itkm549.products as c

on b.junctionproductid = c.productid

group by a.customerid,

a.customerlastname,

a.customerfirstname

having total >= 75.00;

quit;
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